

TRIPURA UNIVERSITY

(A Central University) Suryamaninagar – 799022

..... Date: 24/09/2024

No.F.TU/Admission/PhD/01/2024

SCHEDULE FOR RET-2024-25

SL No	Name of the Department	Date of RET	Time and duration of the Test	Venue	Pattern of Test	Question Pattern	Date of Viva Voce	Other important information
1	Botany	1-10- 24	10:00 AM -12:00 PM	Dept. of Botany Academic Building No 11	Written cum Viva	Objectives EACH QUESTION 2 MARKS	01.10.2024 2:30PM ONWARDS- VIVA	
2	Forestry and Biodiversity	3-10- 24	10:00 AM - 1:00 PM	Dept. of Forestry and Biodiversity Academic Building No 11	Written	Descriptive, 20 questions X 5 =100	03/10/2024 at 2.30 PM	
3	Human Physiology	5-11- 24	10:00 AM - 2:00 PM	Department of Human Physiology	Written	50 questions 2 marks each	06.11.24	
4	Microbiology	5-11- 24	11.00 AM - 2.00 PM	Department of Microbiology Day Care Building, Tripura University	Written (50 questions of 2 marks each)	Descriptive	06-11-2024 (from 11AM)	
5	Molecular Biology and Bioinformatics	1-10- 24	11.00 AM - 2.00 PM	Department of Molecular Biology and Bioinformatics, Day Care Building, Tripura University	Written test followed by Interview	Mixture of MCQ, short answer, essay based question.	01-10-2024 (From 4 PM to 5:30 PM)	
6	Zoology	3-10- 24	10.00 AM - 12.00 PM	Department of Zoology	Written + Viva	50 nos. f Short answer type questions of 2 marks each	03.10.2024 at 2.30pm	

7	Pharmacy	6-11- 24	1.00 PM - 3.00 PM	Department of Pharmacy, Academic Building - XI, Block -A, Ground Floor, Tripura University	Written	MCQ and Objective	11 and 12 Nov. 2024	
8	Chemistry	6-11- 24	11.00 AM - 1.00 PM	Department of Chemistry	Written	50 numbers of Short question having two marks each	06.11.2024 at 2:00 PM	
9	Geography and Disaster Management	5-11- 24	11.00 AM - 1.00 PM	Department of Geography and Disaster Management	Written Examination + Viva Voce	Short questions (02 marks each)	06.11.2024, Wednesday (10.00 am onwards)	Candidate has to score a minimum of 50 marks in the written test to be eligible for the Viva Voce
10	Mathematics	5-11- 24	11.00 AM - 1.00 PM	Department of Mathematics, Academic Building 11	Written Examination, followed by Viva	Short Answer type 50 questions of 2 marks each	November 05 or 06, 2024	
11	Physics	11- 11-24	11.00 AM - 1.00 PM	Dept. of Physics	Written + Viva	M.C.Q.	11.11.2024	Viva Voce will commence from 3.PM on 11.11.2024
12	Statistics	8-11- 24	12.00 PM - 3.00 PM	Department of Statistics	Written	Descriptive Type. 20 questions each carries 05 Marks	8-11-24	
13	Computer Science and Engineering	7-11- 24	10:00 AM - 1:00 PM	Department of Computer Science and Engineering Academic Building-9, Ground Floor,	Written Total Marks: 100 (Descriptive and Numerical Type Questions each of 5 Marks)	Descriptive and Numerical Type Questions each of 5 Marks	2:00 PM Onwards on 07/11/2024 (Candidates need to Score Minimum of 50 Marks in Written Test to be Eligible for Viva Voce)	Post Graduation Syllabus of Computer Science and Engineering & Research Methodology
14	Electrical Engineering	3-10- 24	11:00 AM - 12:00 PM	Department of Electrical Engineering, Academic Building 9	Written	MCQ 2 marks each 25 question	2:00PM, 3rd October 2024	Written test: 50 Marks and Viva Voce: 50 Marks ,Total 100 Marks Pass Marks: 50 Marks, candidates need to clear written Exam , Written Exam Pass Marks 30.
15	Information Technology	3-10- 24	10:00 AM - 1.00 PM	Department of IT, Building No 9	Written	100 MARKS	03-10-2024 2PM onwards	Candidate has to score a minimum of 50 marks in the written test to be eligible for the Viva Voce

						[(2X25)+(5X10)]		Candidates with GATE/NET in relevant discipline are exempted from Written Test
16	Chemical and Polymer Engineering	7-11- 24	11.00 AM - 2.00 PM	Dept. of Chemical and Polymer Engineering	Written	40 subjective questions (2 marks each) + 4 questions (research methodology, 5 marks each) (80 + 20 = 100 marks)	08.11.2024	
17	Electronics & Communication Engineering	3-10- 24	11.00 AM - 1.00 PM	Department of Electronics & Communication Engineering	Written	MCQ and Objective Questions	03-10-2024 at 3 PM	
18	Material Science and Engineering	6-11- 24	11.00 AM - 2.00 PM	Department of Material Science and Engineering	Written	50 questions of 2 marks each (Total 100 marks)	7-8/11/2024	
19	English	1-10- 24	11.00 AM - 2.00 PM	Dept of English, TU	Written	Short type: 50 questionsx2 marks each =100 marks	3-10-24 10.30 AM onwards	
20	Bengali	11- 11-24	12.00 PM - 2.00 PM	Department of Bengali	Written	Short question(35x2)essay type(1x30)=100	12.11.24 (11 am onwards)	
21	Hindi	12- 11-24	12.00 PM - 2.00 PM	Department of Hindi	Written	MCQ Pattern	14-11-24	
22	Sanskrit	6-11- 24	11.00 AM - 1.00 PM	Department of Sanskrit, TU	Written	50 questions, 2 marks each, no negative marking	07/11/2024 11.00 am onwards	
23	Economics	8-11- 24	11.00 AM - 1.00 PM	Department of Economics	Written	short answer type and it will be of 100 marks (50 questions of 2 marks each)	08/11/2024 2.00 pm onwards	
24	History	18- 11-24	12.00 PM - 1.00 PM	Department of History	Written	Descriptive question to test research aptitude and short questions on the domain knowledge	19-11-24	
25	Political Science	18- 11-24	11.00 AM - 2.00 PM	Department of Political Science	Written	Broad and Subjective (5 questions of 20 marks each	20.11.2024	

26	Philosophy	7-11- 24	11.00 AM - 2.00 PM	Department of Philosophy Tripura University	Written	Full marks: 100, 50 short questions each question is of 2 marks	8th Nov. 2024 at 10:30 am	
27	Psychology	5-11- 24	1.00 PM - 3.00 PM	Department of Psychology	Written	50 questions of 2 marks each	6-11-24	
28	Rural Studies	9-11- 24	12.00 PM - 1.00 PM	Department of Rural Studies	Written	50 questions of 2 marks each	10-11-2024	Syllabus of Rural Studies may be followed
29	Education	19- 11-24	11.00 AM - 1.00 PM	Department of Education, TU. Building No 12, 2nd Floor	Written	MCQ	20-11-24	
30	Liberal Arts	11- 11-24	11.00 AM - 1.00 PM	Department of Liberal Arts	Written	Short & Descriptive	12-11-24	Written (60 marks) & Viva (40 marks). 50% marks from Research Methodology and rest 50% marks from the subject (Liberal Arts including Philosophy, Cultural Studies, Gender Studies, Management & Performing Arts
31	Centre for the Study of the Social Inclusion	13- 11-24	11.00 AM - 2.00 PM	CSSEIP	Written	Short Type	14-11-2024	Prior notification/intimation would be given in case of any change in the date of Viva Voce
32	Archaeology and Ancient Indian Culture	12- 11-24	11:00 AM to 12:00 PM	1st Floor, Block 12,Department of Archaeology and Ancient Indian Culture	Written	Multiple Choice Question	12.11.202 2:00 PM to 4:00 PM	
33	Fine Arts	3-10- 24	1.00 PM - 4.00 PM	Department of Fine Arts Academic Building No 2	Written	SHORT QUESTION: 5X4 = 20 BROAD QUESTION: 20X3=60 MULTIPLE CHOICE QUESTION: 2X10=20	04-10-2024 AT 11.00 A.M.	VIVA-VOCE=100
34	Music	3-10- 24	11.00 AM - 1.00 PM	Department of Music	Written + Practical Performance	MCQ	3rd October 2024, 3 pm to 6 pm viva and performance.	

35	Commerce	5-11- 24	11.00 AM - 2.00 PM	Department of Commerce	Written	50*2=100 MARKS (SHORT QUESTIONS)	06.11.2024	
36	Business Management	11- 11-24	11.00 AM - 1.00 PM	Department of Business Management, Academic Building 10	Written	50 Marks (5 marks each X10 questions)	12.11.2024 11.30 am onwards	1) Viva will be held from 11am onwards 2) Question for written examination will be from Research methodology and course specific
37	Law	14- 11-24	11:00 AM - 12.30 PM	Dept. of Law, TU	Written	Objective	19-11-24	
38	Journalism and Mass Communication	11- 11-24	12.00 PM - 3.00 PM	Department of Journalism and Mass Communication, TU	Written Test + Viva Voce	It will have a mix of both subjective and Objective questions for the written test for 70 Marks and for Viva voce there will be 30 marks.	13-11-2024	The written test will comprise of questions from UGC Syllabus of MA in JMC Course
39	Physical Education	11- 11-24	12.00 PM - 2.00 PM	Department of Physical Education	Written	MCQ	12-11-2024 (11:00AM onwards)	

The above schedule is subject to change in case of any unforeseen circumstances. For any further enquiry, applicants are instructed to contact the concerned Department.

Admission Coordinator
Tripura University

Copy to:

- 1. The Head/Head (i/c)/Coordinator, Department of , T.U
- 2. Dean, Faculty of Science, TU
- 3. Dean, Faculty of Literature, TU
- 4. Dean, Faculty of Social Science, TU
- 5. Dean, Faculty of Music and Fine Arts, TU
- 6. Dean, Faculty of Commerce, Law, Management and Information Science, TU
- 7. P. A. to Registrar, TU
- 8. P.S. to the Hon'ble Vice-Chancellor for kind information of the Vice-Chancellor.